Section : Section 1

Q.1

Ans

The loss factor of a power plant is applicable for:

JMRC JE ELECTRICAL Paper 2021

X 1 iron losses
< 2 iron and copper losses

/< 3 parasitic loss

W 2 copper losses

Question |1D :
Option 11D :
Option 21D :
Option 310 :
Option 4 10 :

Status :

rajhindinews.com

762857230
762857917
762857919
762857920
762857918
Answered

Chosen Option : 2

Q-2 Beaufort number is related to which of the following renewable energy sources?
Ans 1 Wind energy

X 2 Tidal energy

< 3 Biogas

< 4 Solar energy

Question |D : 762857259
Option 110 ; 7628571034
Option 21D : 7628571036
Option 310 ; 7628571035
Option 4 1D : 7628571033
Status | Answered
Chosen Option : 3

Q3 The algorithm used to extract maximum power from solar PV is known as:

Ans  of 1. MPPT
X 2 MMPP
X 3 PMMT
X 4 MMMT

Question 1D : 762857237
Option 110 762857945
Option 210 : 762857948
Option 31D ; 762857946
Option 4 10 ; 762857947
Status . Answered
Chosen Option ; 1

Q.4  Which of the following is true for an RC circuit if I is the capaeitor cuftent and V is the voltage across capacitor?

Ans X1 V(0H)<V(0-)
K 2I(0H)=1I(0-)
W3 V(O0H)=V(0-)
X aI(0H)=1(0~)

Question ID : 762857213
Option 11D : 762857852
Option 210 : 762857849
Option 31D : 762857851
Option 4 1D : 762857850
Status . Answered
Chosen Option : 3

Q5 Ina DC/AC instrument the deflection is proportional to the:

Ans X 1 square value of the DC current or DC voltage under measurement only
W 2 square value of the current or voltage under measurement
X 3 value of the current or voltage under measurement

X 4 value of the AC current or AC voltage under measurement only

Question ID : 762857225
Option 110 : 762857899
Option 210 : 762857898
Option 31D : 762857897
Option 4 1D : 762857900
Status | Answered
Chosen Option : 2

Q.6 Which of the following techniques is used to provide damping torque in indicating instruments?
Ans X 1 R Damping

2 2 RLC Damping

/< 3 Thermal Damping

o ¢ Fluid Friction Damping

Question |D ; 762857221
Option 11D : 762857881
Option 21D : 762857883
Option 310 : 762857884
Option 4 1D : 762857882
Status | Answered

Chosen Option : 4




Q.7

If the output of the circuit is a “triangular wave’, the input of the circuit must be:
Ans X1 Sine wave
< 2 Step signal
« 3 Square wave

X 4 Triangular wave

Q.8 If n=mumber of times voltage rating is increased, then for a distributor design, the conductor size reduces by

of the original.
Ans

E.
Vs

1

X2

1

X 3 -

X 4 1

n

Q9 1n a single-phase split-phase induction motof; the'main winding has:

Ans 1 |ow resistance and low inductive reactance

< 2 high resistance and high inductive reactance
+ 2 low resistance and high inductive reactance

< 2 high resistance and low inductive reactance

Q.10 For a step down DC-DC converter. if R is the load resistor connected at the output and D is the duty cycle, the effective
input resistance seen by the source is:

hne; R ILDED%R
v 2 RD
X3 DXR
X 4 DR

@11 For a three-phase induction motor, the rotor copper loss is equal to:

Ans (1 Slip X Power Input to rotor/frequency
X 2 Slip/Power Input to rotor
« = Slip X Power Input to rotor

< 4 Power Input to rotor

Question |1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option ;

Question D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status |
Chosen Option :

Question ID :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

Question D :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option : 3

762857249
762857995
762857993
762857996
762857994
Answered

3

762857251
7628571002
7628571003
7628571004
7628571001
Answered

1

762857218
762857872
762857871
762857869
762857870
Answered

3

762857234
762857936
762857933
762857935
762857934
Answered

2

762857217
762857868
762857865
762857866
762857867
Answered




Q12 The circuit in the given image is:

{1} >4
v L ]

Vi gn

ke

Ans

< 1 Parallel Clamper with DC supply
o 2 Series Clipper with DC supply
X 3 Series Clamper with DC supply
< 4 Parallel Clipper with DC supply

Question |D : 762857227
Option 11D : 762857908
Option 210 : 762857905
Option 31D : 762857907
Option 4 1D ; 762857906
Status | Answered
Chosen Option ; 2
Q.13  An electrical circuit which is operating at a certain frequency has impedance of ( 10-j10) £2. If the frequency is made
200%o of the original frequency then the new value of impedance is
Ans 1 (10-5)Q
X 2 (10-j10) Q
X 3 (20-j10) Q
X 2 (20-j20) Q
Question |D : 762857245
Option 110 : 762857977
Option 210 : 762857978
Option 31D : 762857980
Option 4 1D : 762857979
Status | Answered
Chosen Option ; 1
Q14 Self-inductance of the conductor is one of the reasons for:
Ans o 1 Skin effect
X 2 Ferranti effect
X 3 Stroboscopic effect
X 4 Corona effect
Question |D : 762857250
Option 11D : 762857997
Option 21D : 762857999
Option 310 : 7628571000
Option 4 1D : 7628579098
Status : Answered
Chosen Option : 2
Q.15  An X’ pole, 50 Hz alternator is driven bya/60 Hz synchronous motor. Calculate the number of poles for the
synchronous motor.
Ans X 1 24/X
v2 12X
X3 1.2/X
X 4 24X
Question ID : 762857246
Option 110 : 762857983
Option 210 : 762857982
Option 310 : 762857984
Option 4 1D : 762857981
Status . Answered
Chosen Option : 2
Q16 Tmpulse ratio is calculated for which of the following?
Ans X 1 Transformer
& 2 Circuit breaker
X 3 Relay
« 2 Lightning arrester
Question |D : 762857254

Option 110 7628571015
Option 21D : 7628571013
Option 3 10 7628571014
Option 4 1D : 7628571016
Status . Answered
Chosen Option ; 4




Q.17 The technical standard parameter known as safety standard for grid connected inverter is called:

Ans 1 Open Circuit Protection
X 2 Short Circuit Protection
X 3 LVRT Protection
+ 2 Anti-Islanding Protection
Question |D : 762857238
Option 11D : 762857952
Option 210 : 762857951
Option 31D : 762857950
Option 4 10 : 762857949
Status | Not Answered
Chosen Option ; --
Q18 A single-phase three-wire AC source will have:
Ans X 1 one output terminal
« 2 three output terminals
X< 3 four output terminals
A 4 two output terminals
Question ID: 762857215
Option 110 ; 762857857
Option 21D : 762857859
Option 31D : 762857860
Option 4 1D : 762857858
Status | Answered
Chosen Option : 2
Q19 The complete response for analysis of any circuit is:
Ans X 1 only its natural response
« 2 only its natural and forced response
/< 3 the sum of natural. forced and transient responses
< 4 only its forced response
Question 1D : 762857211
Option 11D : 762857841
Option 21D : 762857843
Option 310 ;. 762857844
Option 4 1D : 762857842
Status . Answered
Chosen Option ; 2
Q20 1ph polyphase AC circuits, the phase sequence RYB is the same as
Ans X 1 BYR phase sequence
+ 2 YBR phase sequence
/< 3 YRB phase sequence
/< 4 RBY phase sequence
Question |D : 762857242
Option 1 1D : 762857966
Option 210 : 762857968
Option 31D : 762857967
Option 4 10 : 762857965
Status | Answered
Chosen Option : 2
Q21 Demultiplexer circuit is:
Ans X 1 an encoder circuit
/< 2 an encoder circuit with enable input
« 2 adecoder circuit with enable input
X 2 adecoder circuit
Question 1D : 762857228
Option 11D : 762857910
Option 21D : 762857912
Option 31D : 762857911
Option 4 1D : 762857909
Status . Answered
Chosen Option : 3
Q22 Capacitor potential transformers are used to measure voltages:
Ans

X 1 below 50 kV
X 2 above 1000 kV
v 3 above 100 kV
X 4 below 10 kV

Question ID :
Option 1 1D :
Option 21D :
Option 31D :
Option 410 :

Status :
Chosen Option :

762857224
762857896
762857895
762857893
762857894
Answered

3




Q.23

Ans

0.24

Ans

Q.25

Ans

Which of the following is used for voltage regulation?
X 1 Diode
X 2 IGBT
X 3 Transistor
v 4 Zener Diode

. . in 0

For the given figure, according to Snell’s law, :ﬂ g
nUz

vin 114

X2

X3

X 4 1y/5

A solar cell converts energy of light into electricity by:

X 1 chemical effect
X 2 atmospheric effect

v 2 photovoltaic effect
< 4 physical effect

Q26  The most economical area of the conductor is based on:

Ans

< 1 Ampere’s law
X 2 Coulomb’s law
v 3 Kelvin's law

X 4 Faraday’s law

Q27 Which of the following plants is a non-conventional source of energy?

Ans

X 1 Water
X 2 Boiler
& 3 Thermal
v 2 Solar

Question |D :
Option 1 1D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option :

Question D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Question ID :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D :

Status

Question ID
Option 11D :
Option 210 :
Option 31D :
Option 4 10 :
Status :
Chosen Option ;

Question ID :
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

762857226
762857901
762857903
762857902
762857904
Answered

4

762857258

7628571029
7628571031
7628571032
7628571030

- Answered

1

762857239
762857953
762857956
762857954
762857955

- Answered
Chosen Option :

3

762857252
7628571008
7628571005
7628571006
7628571007
Answered

3

762857236
762857943
762857944
762857941
762857942
Answered

4




Q.28 1 D flip flop the present state is 1. What will be the next state of output at the complement end?

Ans ?-(1[”
X 21
V30
X 2 11

Q.29 If D is the duty ratio, the input and output relation of a buck converter and boost converter are:

Ans 1

X1 Vour =D Vi, and Ve = mvt‘n
D
N2 Vout =DV and Ve = ml’{m
1
v Vour = D Vp, and Vout = ';}'an
D
X 4 Vout = 14D Vin and Vﬂut == :ﬁvfn
Q.30

Ans

X 1 Aluminium alloy

X 2 Electrolytic copper
« 3 Copper tungsten alloy
X 4 Porcelain

931 Which of the following is adrawback of tidal power?

Which material is used for making arcing contacts of circuit breakers?

Ans X1 Predictable energy output
« 2 Maintenance and repair of equipment
< 3 Running cost is cheap
< 2 Protects coastal flooding

Q32 The D’Arsonval Galvanometer is a:

Ans

/< 1 DC moving magnet galvanometer
X 2 AC moving magnet galvanometer
X 3 AC moving coil galvanometer

« ¢ DC moving coil galvanometer

Question |1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

QuestioniD
Option 11D
Option 210 ¢
Dption 31D :
Option 4 1D :

status :
Chosen Option ;

Question D :
Option 11D :
Option 21D :
Option 31D :
Option 4 10 :

Status :
Chosen Option ;

Question D :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

status :
Chosen Option :

762857229
762857916
762857913
762857914
762857915
Answered

3

762857256
7628571021
7628571024
7628571022
7628571023
Answered

3

762857232
762857925
762857927
762857926
762857928
Answered

3

762857260

7628571037
7628571040
7628571038
7628571039

- Answered

762857222
762857886
762857888
762857887
762857885
Answered

4




932 The D’Arsonval Galvanometer is a:

Ans X 1 DC moving magnet galvanometer
/< 2 AC moving magnet galvanometer
< 3 AC moving coil galvanometer
« 2 DC moving coil galvanometer
Question D :
Option 11D :
Option 21D :
Option 31D :
Dption 4 1D :
Status :
Chosen Option :
Q.33 In a high voltage transmission, whenever the conductors are dead-ended or there is a change in the direction of the
transmission line, the insulators used are of the:
Ans x 1 Piﬂ t}"pﬁ'
X 2 Shackle type
/< 3 Suspension type
o + Strain type
Question ID :
Option 11D :
Dption 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Q34 1In the given figure, the value of current I(0) is: (t is time)
| {t! 1Kohm
12u(t-3) 100mH
Ans
X 66
1000
x 2 120
1000
X 3 8.33
1000
12
i —
1000
Question |1D :
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Q35 Load duration curve is the plot between:
Ans

' ' load and time

/< 2 load and voltage
X 2 load and temperature

X 4 load and frequency

Question D :
Option 1 1D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option :

Q.36 An oscilloscope shows peak-to-peak amplitade of 8 cm for a measured sinusoidal voltage waveform with vertical

sensitivity nob set to 8 V/cm. The average value of the voltage is:

Ans X 11019V
V2 2037V
X 3 4074V
X4 255V
Question |D :
Option 11D :
Option 21D :
Option 31D :
Dption 4 1D :
Status :

Chosen Option ;

762857222
762857886
762857888
762857887
762857885
Answered

4

762857253
7628571010
7628571009
7628571011
7628571012
Answered

4

762857212
762857846
762857847
762857848
762857845
Answered

4

762857231
762857921
762857923
762857924
762857922
Answered

1

762857247
762857985
762857986
762857988
762857987
Answered

2




Q.37

Ans

Q.38

Ans

Q.39

Ans

Q.40

Ans

Q.41

Ans

Q.42

Ans

With which of the following is the One Wattmeter method of three-phase power measurement possible?
v ' Star-connected balanced load
X 2 Delta-connected balanced load
X 3 Star-connected unbalanced load

X 2 Delta-connected unbalanced load

What will be the effect on hysteresis loss of a transformer if the iron core is replaced with an air core?
< 1 It will remain unchanged
v 2 It will reduce to zero

< 3 It will increase five times
X 4 It will increase to infinite

In a hotwire instrument. which alloy is used?

v 1 Platinum iridium
X 2 Platinum - L ead
X 3 Zinc - Nickel
X 4 Platinum - Li

Network theorems are applicable to .
v ' AC and DC linear circuits
X 2 DC non-linear circuits only

X 3 AC non-linear circuits only

X 4 AC linear circuits only

The cvclo converter is used for:

X 1 DC-AC conversion
v 2 AC-AC conversion
/< 3 DC-DC conversion
X 4 AC-DC conversion

With which of following is the cogging effect of a three-phase induction motor related?

< 1 Voltage regulation problem
« 2 Starting problem
X 3 Efficiency problem

/< 4 Speed variation problem

Question |1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 10 ¢

status :
Chosen Option :

Question |D :
Option 11D :
Option 21D :
Option 31D :
Dption 4 1D :

Status

Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D ¢

Status :
Chosen Option :

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 10 :

Status :
Chosen Option ;

Question ID
Option 110 :
Dption 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option ;

762857244
762857973
762857974
762857975
762857976
Answered

1

762857220
762857879
762857880
762857877
762857878
Answered

2

762857223
762857889
762857891
762857890
762857892

- Answered

1

762857240
762857960
762857958
762857959
762857957
Answered

1

762857235
762857940
762857939
762857937
762857938
Answered

2

762857216
762857864
762857861
762857863
762857862
Answered

2




Q43 1dentify the given circuit based on the working principle.

Ans X 1 Semi-controlled rectifier
X 2 Controlled inverter
< 3 Fully-controlled rectifier
« + AC regulator
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Q44 For a line insulator, (puncture voltage)/(flash over voltage) is:
Ans X 1 equalto 1
X 2 less than 1
o 3 greater than |
X 4 equalto 0
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status

Chosen Option :

Q45 What is the definition of a three-phase balancéd load?

Ans x y
It draws power equally from all three phasesavith inductive type of load only

) i
It draws power equally from all three phases with resistive type of load only

o 2 It draws power equally from all three phases with all types of load
< 4 It draws power unequally from all three phases with all types of load

Question ID :
Option 11D :
Option 21D :
Option 310 :
Option 4 1D :
status :
Chosen Option :

Q.46 * A

+B
Which of the following helps in finding a single equivalent voltage source of the circuit shown in the figure?

Ans X' 1 Thevenin’s theorem

X 2 Norton’s theorem
« 3 Millman’s theorem
X 2 Reciprocity theorem

Question I1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

762857257
7628571025
7628571028
7628571026
7628571027
Answered

4

762857255
7628571018
7628571019
7628571020
7628571017
Answered

3

762857214
762857856
762857855
762857853
762857854
Answered

3

762857241
762857962
762857963
762857964
762857961
Answered

3




Q47 For which of the following reasons is a DC injection used in a three-phase induction motor?
Ans 1 For dynamic braking
X 2 To increase the speed of the rotor

X 2 To work as a DC motor
X 4 To decrease of speed of the rotor

Q48 Tdentify the Boolean function for the given switching circuit.
Y
A
—& o

C

Anw: V. ABE
X2 (A+B)C
v: A(B+0)
X4+ A+B+C

Q.49 A three-phase. four-wire system supplies power to a balanced star-connecteddoad. The current in each phase is 20 A,
The current in the neutral wire will be

Ans X1 20A
X 2 60A
3o
X4 40A

Q.50

In a Power Electronics Circuit, two diodes are connected in series to:
Ans X 1 increase the current carrying capacity of diodes
X 2 increase the forward voltage withstand rating of diodes
< 3 decrease the current carrying capacity of diodes

v <+ increase the reverse blocking voltage withstand of diodes

Section - Section 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Dption 4 1D :

Status :
Chosen Option :

Question D :
Option 11D :
Option 210 :
Option 310 :
Option 4 1D :

Status :
Chosen Option :

Question ID :
Option 110
Dption 21D :
Option 31D :
Option 4 10 :

Status :
Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status
Chosen Option :

762857219
762857874
762857873
762857876
762857875
Answered

1

762857248
762857990
762857991
762857989
762857992
Answered

3

762857243
762857969
762857971
762857972
762857970
Answered

3

762857233
762857929
762857930
762857932
762857931
Answered

4



Q.1

Ans

Q.2

Ans

Q.3

Ans

Q.4

Ans

Q.5

Ans

Pl § ¥ 39 & oF f¥ave v sEea/RieE a8 2
X 1 AT,
v gERa
X 3 TeATEel
X ¢ i

HAT &7 Fer @ gaaa@Ter @ Ta 9gEr 9T g7 27
X 1 of¥ee #ee

X 2 Fegras 93gATen

X 3 HTAST FT 93T

v 4 T SagATeT

oYU HG FUAF FAHS s F @S Pied 87
X1 arde

X 2 FTeT AT

v u=r fEAY

X 4 et

What was the theme of the Human Rights Day 2019?

X< 1 Let’s stand up for equality, justice and human integrity.
+ 2 Youth standing up for human rights.

< 2 Our rights our freedom.

/< 2 Stand up for someone’s rights today.

F=oaT 7 8 g 2 & 9ger TH (Siam) & 17 & =7 Sar or?

<1 e
X 2 Forer
<3 FEr
v uTgels

Question ID :
Option 1 1D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option :

Question ID
Optign 1 10
Option 21D
Opticn 3 1D :
Option 4 10 ¢
Status :

Chosen Option :

Question |D :
Option 11D :
Dption 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question |1D :
Dption 11D :
Option 21D :
Option 31D :
Option 4 10 :
Status :
Chosen Option :

Question ID :
Option 11D :
Option 21D :
Dption 31D :
Option 4 1D ¢
Status :
Chosen Option ;

762857264
7628571053
7628571056
7628571054
7628571055
Answered

2

762857267
7628571068
7628571066
7628571067
7628571065
Answered

4

762857263
7628571049
7628571051
7628571050
7628571052
Answered

3

762857270
762851077
7628571079
7628571080
7628571078
Answered

1

762857265
7628571057
7628571059
7628571060
7628571058
Mot Answered




Q6 = 2019 F 2hvw sHT (ISRO) Zar Tas U 9T BFas Rl s9Rt & yegor fFar amar &2

a1 50
X 2 45
X 3 35
X 2 40
Question ID : 762857261
Option 110 7628571043
Option 210 ; 7628571044
Option 3 10 7628571042
Option 4 10 : 7628571041
Status . Not Answered
Chosen Option : --
Q.7 ") . - .
AATT Tk TFHUSA HH S3I7 (NSE) 1 & erfag Bar srar ar?
Ans X1 1993
v'2 1992
X 3 1995
X 4 1998
Question ID ; 762857268
Option 110 7628571072
Option 210 ; 7628571071
Option 310 : 7628571070
Optign 410 ; 7628571069
‘Status © Answered
Chosen Option : 2
Q8 rm=o wHeror &, 2020 H w@r AHR gED RAEEr F ofonAT # R Ry 7 10 o@ # dfF SeEEem
Trer gt #r Aofr F vuw T wow R B
e X e
X 2 HERT
v g
Question |D ; 762857269
Option 11D : 7628571073
Option 210 ; 7628571074
Option 31D : 7628571076
Option 4 10 : 7628571075
Status ;| Answered
Chosen Option : 3
Q9 E=Rfls 7 ¥ B 7ee F dusaHt F e, 2019 # 0wl ReE@e & § S o tEe W
U B FST F Ie9ES T Heal 87
Ans
X1 IEHTEE FAR
X 2 FEHTEE e
X @ HEHEE aFs
v o HTEITEET TR
Question ID : 762857262
Option 11D : 7628571046
Option 21D : 7628571047
Option 310 : 7628571045
Option 4 1D : 7628571048
Status : Not Answered
Chosen Option : --
Q.10
FERIOT FFeT & oTHF U
Ans
X 1 SR
v 2 AaTE
X 3 SR
A 4 HARETS
Question 1D : 762857266
Option 11D : 7628571063
Option 210 : 7628571061
Option 310 : 7628571064
Option 4 1D 7628571062
Status | Answered
Chosen Option ; 2




Q.11

As per the New Cartesian Sign Convention, the correct mirror formula is:

Ans 1 1 1
v 4 el Sul s
un I v
1 R
Xs= =~
u f v
Jaded 1
:i — — ==
¥ W 1
L T |
X 4 =% — = —
v u f
Question ID : 762857272
Option 110D : 7628571085
Option 210 : 7628571086
Option 310 7628571088
Option 4 10 : 7628571087
Status . Answered
Chosen Option : 3
@12 gpeciation takes place when variation occurs with:
Ans X 1 changes due to global warming
X 2 climatic changes
X 3 changes due to earthquakes
v 4 geographical isolation
Question ID; 762857279
Option 11D : 7628571116
Option 21D : 7628571113
Option 310 7628571114
Option 4 1D : 7628571115
Status . Answered
Chosen Option : 4
Q.13 A current of 0.5 amperes flows through the filament of an electric bulb for 12 min. Calculate the amount of electric
charge that flows through the circuit.
Ans  of 1. 360 C
X260C
X3 36C
X46C
Question |D : 762857280
Option 110 7628571119
Option 210 : 762851117
Option 310 ; 7628571120
Option 4 10 : 7628571118
Status . Answered
Chosen Option : 1
Q14 for o= 100 m & ST9F F H g1 TF OF B T T g@T B 5% I AR 5 o & A
A A 7@ 1 7S 200 m F gl v Fee A 79 Far ¢, o @ dtwa 397 A fiew
Ans 2 2
v omsl
X2333mg’}
X3 1.66ms!
X4166ms
Question ID : 762857273
Option 110 : 7628571091
Option 21D ; 7628571089
Option 31D ; 7628571090
Option 41D : 7628571092
Status . Answered
Chosen Option : 2
QIS v 3fy T2 $r 39 1 kHz 37 07 8e9 35 cm &1 3 1.5 km Fr 2l 57 == F T e
AT &Y
Ans XT 12 q -
<221 853
X334 s
v: 43 qFs
Question D 762857274
Option 11D : 7628571094
Option 210 ; 7628571093
Option 31D : 7628571096
Option 4 10 : 7628571095
Status . Answered
Chosen Option : 4




Q16 v gAY # Rega Reaw 2, 8, 7 81
F=fEs 7 ¥ 7l 7 o= tonfesE 77 & 55 FA g7 e #f WA e SveE A 4 TR

gl

Ans o1 Br (35)
X2 S (16)
X 3 Ar (18)
X 2 Se (34)
Question ID :
Option 110 :
Option 21D :
Option 31D :
Dption 4 1D :
Status :

Chosen Option :

Q17 Rr=ffe & ¥ 7 &1 gdfw diul & 337 & 3@ Rr & afwnt & R frsofa s g
weTer ® g gr 87

X 1 gEeREAA
VAR T

X 3 S

X ¢ velf@s 3T

Ans

Question D :
Optian 11D ;
Option21D :
Option 31D :
Cption 4 1D :
Status :
Chosen Option :

Yz At # dew ¥ dhue s ¥ lF @ AT e @2
e Ifeew e

X 2 Ao

X 2 BIfAF HET

X « ofafes ofEs

Question 1D :
Option 11D :
Dption 21D :
Option 31D :
Dption 4 1D :
Status :
Chosen Option :

Q.19 1f a net charge *Q’ flows across an¥ eross section of a conductor in time °t’, then the current *I” is:

e XD X e
X2Q-t
v s Q
t
L
X 4 6
Question 1D :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
.20 . ) i . : I
Q A solution contains more H™ ions than OH ions. In this case the solution is
Ans  OC 1 Basic
v 2 Acidic

< 3 amphoteric
X 4 Neutral

Question |D
Dption 11D :
Option 21D :
Option 31D :
Option 4 1D :
status :
Chosen Option :

J62857275
7628571099
7628571098
7628571097
7628571100
Answered

1

762857278
7628571110
762851112
7628571109
7628571111
Mot Answered

e

762857277
7628571108
762851107
7628571105
7628571106
Mot Answered

762857271
7628571083
7628571084
7628571082
7628571081
Answered

3

762857276
7628571101
7628571102
7628571104
7628571103
Answered

2




Q21 fadr fsor & A 3R B &7 35999 2:5 1 5@ A #r 300 gms AT AR B #r 400 gms AT F
I fsor & Framn Ser 2, A A R B F N dEeeT 1 2§ S g1 a7 A

AT feRaar o

Ans X1 200 gms
< 2 300 gms
v = 400 gms
X 4 500 gms

Question ID

Option 11D :

Option 21D :

Option 31D :

Option 4 10 :

Status :

Chosen Option :

Q.22 Tf2x-3y=-1and 5x — 4y = 15 and both satisfied by x = *a’ and v = *b’. then the value of *a’ is

Ans x Y- 10
X2 4
v 3 7
~< 41
Question ID :
Option 1 10
Gption 21D
Option 31D :
Option 4 10 ¢
Status

Chosen Option :

Q.23  The lengths of the three sides of a triangle are given as 14 cm, 9 cm and 7 cm. What is the area of this triangle?

v 1245 cm?

Ans

X 4 1845 cm?

Question |1D :
Dption 11D :
Option 21D :
Option 31D :
Option 4 10 :

Status

Chosen Option :

Q24 Treh soa & R & B 3 FEe &7 ST 8 3 T R e f e, S @ B & e
g & awET g1 A9 AR M F S & A 7" S

IR N - D
N23:4
va32:3
X24:3

Question |D :

Option 11D :

Option 21D :

Option 310 :

Option 4 10 :

Status :

Chosen Option ;

Q.25 uﬁawﬁgmtmcnsgznﬁ %jﬁtanﬂﬂmmiﬁﬁ'ﬂ'l
Ans XT\/E

X2 575
X325

v+ 525

Question ID :
Option 11D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option :

762857282
7628571125
7628571126
7628571127
7628571128
Answered

3

762857284
7628571133
7628571135
7628571134
7628571136
Answered

3

762857286

7628571141
7628571142
7628571144
7628571143

- Answered

1

762857288
7628571152
7628571150
7628571151
7628571149
Answered

3

762857290
7628571157
7628571158
7628571159
7628571160
Answered

4




Q.26

Ans

Q.27

Ans

Q.28

Ans

Q.29

Ans

Q.30

Ans

Q.31

Ans

Factorise the expression given below:
x> —8x% - 11x+ 18

X1 (x-1)(x-2)(x+9)

X 2 (x-1)(x+3)(x-6)

W 3 (X-1)(x+2)(x-9)

X 4 (XTI)X-2)(x-9)

To draw a definite straight line, the number of points that should be given is

’ ; - :
The decimal representation of > Is givenas

X 1 0.142858
v 2 0.142857
X< 3 0.142859
X 4 0.142856

ABCD is a cyclic quadrilateral with ZA = 73% What is the measure of 2C?
v 1 107°
X 2 73°
K3 77°
X4 17°

The mean of 32. 48 and another number is 45. What is that number?

T Ulad H OF SEdT Sea{ @1 AT A7 &5 451 & e Hear F 72 F{Y A8 ¥ qFT & g8 AW 3
wsfarar &1 Aar g 3T veeH Ay 9v &5 &) =, SN &+ o 3 S wvw # & ¥ o Ak
T, 79T #EAT 3R HFAT & €19 Fao UF Auel 467 g o & ¥ AN 8w e & A &6 2

X oear
X 2 B
X 3 HeFdl
v o araer

Question ID :
Option 11D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option ;

Question |D
Option 11D :
Option 21D :
Option 31D :
Option 4 1D ¢
status :
Chosen Option :

Question ID
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question D :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 1D
Status :
Chosen Option ;

Question ID :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

762857283
7628571129
7628571131
7628571132
7628571130
Answered

3

762857285
7628571140
7628511137
7628571138
7628571139
Answered

2

762857281
7628571123
7628571122
7628571124
7628571121
Answered

2

762857287
7628571148
7628571145
7628571147
7628571146
Answered

1

762857289
7628571156
7628571153
7628571154
7628571155
Answered

3

762857295
7628571177
7628571178
7628571180
7628571179
Answered

4




Q.32 Study the given pattern carefully and select the figure that can replace the question mark (?) in it.

Ans

Ve N
— | A\
L = o / 1'\_.
/N e
.-'J’Ilr | H'“'-—P"'

Question |D : 762857294
Option 110 : 7628571173
Option 210 : 7628571174
Option 310 : 7628571175
Option 4 10 ; 7628571176
Status . Answered
Chosen Option : 4
Q.33  The following pie-chart shows the expenditure incurred in running an orphanage every month. Study the pie-chart and
answer the given question based on it.
How much money is spent on the education of the.orphan children in the first two months, if the total expenditure is
%58,000 per month?
ane. 9K 1.%23.200
v 2 46,400
X 2 %34.800
X 4 %17.400
Question D : 762857291
Option 11D : 7628571161
Option 210 7628571162
Option 310 ; 7628571163
Option 4 1D : 7628571164
Status : Answered
Chosen Option : 2
Q34 Select the number that can replace the question mark (?) in the following series.
6,12,20,?7.42
Gl Rl
X 2 27
v 30
X 2 32
Question |D : 762857293
Option 1 10 : 7628571171
Option 210 ; 7628571169
Option 310 : 7628571172
Option 4 1D : 7628571170
Status : Answered
Chosen Option : 3




Q.35

Ans

Q.36

Ans

Q.37

Ans

Q.38

Ans

Q.39

Ans

Which of the following options is best represented by the given Venn diagram?

(0)0

X
N 2
" &
X 4

Football fans. Cricket players, Students
Girls, Dancers. Singers
Triangle, Quadrilateral. Square

Protons. Electrons. Atoms

Which of the following methodologies ensures that development and operations go hand-in-hand?

X1

The number of end-to-end connections required in a full mesh topology network with 15 nodes is:

Development
Operations Research
DevOps

React

is a computer mouse which uses an LED light source to detect movement relative to the surface.

Trackball mouse
Laser mouse

Mechanical mouse

Optical mouse

105
15

210
120

Which of the following is a note-taking program in MS Office suite?

X1
N 2
X 3

Visio
Outlook
Access

4 OneNote

Question ID :
Option 11D :
Dption 210 :
Option 31D :
Option 4 1D :
Status :
Chosen Option ;

Question ID
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question |1D :
Dption 110 :
Option 21D :
Option 3 1D :
Option 4 1D :
Status :
Chosen Option :

Question ID :
Dption 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option ;

762857292
7628571166
7628571167
7628571165
7628571168
Answered

3

762857298
7628571189
7628571190
7628571191
7628571192
Answered

3

762857296
7628571184
7628571182
7628571183
762851181
Answered

2

762857300
7628571198
7628571199
7628571200
7628571197
Answered

2

762857297
7628571188
7628571187
7628571186
7628571185
Answered

4




Q.40

Ans

Q.41

Ans

Q.42

Ans

Q.43

Ans

Q.44

Ans

A phenomenon in which a process spends more time on swapping pages rather than on executing is called:

/< 1 segmentation
X 2 fragmentation
X 3 paging

o 2 thrashing

Select the most appropriate option to fill in the blanks.

Always take ___ extra pair of clothes and
X 1 a; an; the; the

v 2 an: an; the: the

X 3 an;a; the: a

X 4 the; the; the; the

umbrella when vou go out of house during rainy seasomn.

Select the option that expresses the given sentence in passive voice.

We shall definitely finish this project by the end of the month.

< 1 This project is being definitely finished by the end of the month.

/< 2 This project shall be definitely finish by us by the end of the month.
o 2 This project shall be definitely finished by us by the ead of the month.
< 2 This project is definitely finished by the end of the month.

Select the option that expresses the given sentence in reported speech.

I said to my mother. “Do not wait for me for dinner.”
< 1 1told my mether do not wait for me for dinner.
A 2 Itold my mother not to wait for her for dinner.
< 3 Itold my mother not wait for me for dinner.

« 2 Itold my mother not to wait for me for dinner.

Parts of the following sentence are given as options. Identify the part that has an error.

The Japan decluttering superstar Marie Kondo convinced many young Indians to clean out their cupboards.

/< 1 decluttering superstar Marie Kondo
< 2 to clean out their cupboards.
« 3 The Japan

X 4 convinced many voung Indians

Question ID :
Option 11D :
Option 21D :
Option 310 :
Option 4 1D :
Status :
Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option ;

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Question ID :
Option 11D :
Option 210 :
Option 31D :
Option 4 10 :
Status :
Chosen Option :

Question 1D :
Option 11D :
Option 21D :
Dption 31D :
Option 4 1D :
Status :
Chosen Option :

762857299
7628571193
7628571196
7628571194
7628571195
Answered

3

762857301
7628571202
7628571203
7628571201
7628571204
Answered

2

762857303
7628571211
7628571212
7628571209
7628571210
Answered

3

762857304
7628571214
7628571216
7628571215
7628571213
Answered

1

762857305
7628571218
7628571220
7628571217
7628571219
Answered

3




Q45 Select the most appropriate option to fill in the blank.

This box 1s heavy I cannot lift it.
Ans X 1 S0:as
/< 2 though: that
W 3 so: that
/5 4 as;so
Question 1D :
Option 11D :
Dption 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

U Rl & ¥ F T e TR a8 &2

Ans ;
v 3
X 2 954
]
X3 ear
X 4 FAHAT

Question D :

Option 1 1D :

Optign 21D :

Option 3107

Option 4 1D :

Status

Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
status :
Chosen Option ;

W rfRE d ¥ SaE-eE-uEE F 99T e

Ans

X HETR, e, HeT
X 2 f95g, Jegraad, a9aT
VAR I G GIT N TG ED

Question ID
Option 11D
Option 21D :
Option 31D :
Option 4 10 :
Status :
Chosen Option :

WP fRgse fr ATaT SRR A & Fua & SfET -
e X e F =9 # AT Fa

v 2 IS B A arol s

X 3 IS & WX A, TAH-SAAH HT dlell

X ST F AT AT E

Question ID :
Option 11D :
Option 21D :
Option 31D :
Dption 4 1D :
Status
Chosen Option :

762857302
7628571205
7628571207
7628571208
7628571206
Answered

3

762857309

7628571236
7628571235
7628571234
7628571233

- Answered

2

762857307
7628571228
7628571226
7628571227
7628571225
Answered

4

762857308
7628571230
7628571232
7628571231
7628571229
Answered

3

762857310
7628571239
7628571238
7628571237
7628571240
Answered

2
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Ans

X FSE, HAG, AT
v 2 &F, ufr, ofer
X 3 9f¥er, 9=, 55

X ¢ FFuT, PfFer, T

Question 1D . 762857306
Option 11D 7628571221
Option 210 ; 7628571224
Option 31D : 7628571223
Option 4 10 ; 7628571222
Status .| Not Answered
Chosen Option : --
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